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PSYCHOLOGY - II

AR - 11

Read each of the following two
statements Assertion (A) and Reason (R)
and indicate your answer using the code
given below :

Assertion (A) :

Belief bias is especially powerful when
reasoner’s ignore the Premises altogether
and focus on the conclusion.

Reason (R):

They accept a believable conclusion and
reject an unbelievable one.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

1.

AFUHYT (A) 791 FAT (R) S FYA F
qfed 991 F2 % ITAM G AT W HI
T :

AUHIT (A) :

YR YAI0E B G T S € 59 a9
FH TN IRER Y TeRETEN F ey g

FHizd B g |
AT (R) :

a8 quifag ferd 1 Wi i eafaq
F STETHIA B

e

(A) (A) @1 (R) BF1 91 ® a1 (R), (A)
I GE SR B |

(B) (A) 71 (R) M1 54 ¥, T (R), (A)
H TE T 8 B |

(C) (A) 99 §, T (R) 318H &1

(D) (A) 379 §, T (R) ¥ 7|

SPACE FOR ROUGH WORK / % &4 & fod sve
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2. Match List - I and List - II and indicate 2. el - 1 vE it - 11 1 fieiee ao froe e

your response by choosing the code given W1 =797 A B HE SR A
below :
List - I List - II el - 1 gt - 11
(Author) (Model) (wTE ) ( wfemrT )
(@) Emstand (i) Linguistic Model (a) T TE =@ (i) WE i
Newell
(b) Johnson and (i) Learning (b) SHEFITE (i) FOHATHE 1 AT
Laird Motivation Model waE safygRon wfemm
of Creativity
(¢) Clark (iii) Mental Model of (c) oeTTh (iii) ISR =1 AHTTS
Reasoning IGEE]
(d) Wilson (iv) Computer (d) faeram (iv) YT FieaTed Ud
Stimulation and HES 9HE 9HHH
Human Problem I
Solving Model
Code : %he
(@ (b) (o) (d) @ (b () (d)
(A) (i) @) @ (@) (A) () @) @) (iv)
(B) (v) (@) @ (i) (B) (iv) (i) (1) (i)
© @) @Gv) @ (i) © @) (@v) @ (i)
(D) @ (i) (@) (iv) (D) O (i) (@) ()

3. Which one, out of these is a incorrect 3. fa=# FH1 T SISl 2 2

pair ?

(A) Adler - Individual Psychology (A) TEeR - SafFas wHifamm
(B) Jung - Analytical Psychology (B) 7 - Avaifirer wefaEH

(C) Sullivan - Social Analyst (C) Hfeam - amfe favess
(D) Freud - Dynamic Psychology (D) WS - AT HAIA

SPACE FOR ROUGH WORK / T% &4 & fo s

Set - A 4 9210/TFU-PSY/ELG-II



4,  Who was the author of the famous Book 4. ‘&Rfezdl fafreg’ ufug 7% & sgs a9

“Hereditary Genious” ? 97

(A) Arther Jensen (A) TR SAER

(B) L.L. Thurstone (B) TUAUHA. ¥&eA
(C) Sir Francis Galton (C) W FHEY Mee
(D) R.B. Cattell (D) FRE. FeaA

5. Following are psychosexual stages of 5. WaE & 3qur fA=fafas fawm &

development according to Freud : HAI- AT = E

(a) Anal stage ' (a) THE T

(b) Oral stage (b) Hifge =3

(c) Phallic stage (c) ThifeTsh =01

(d) Latency period (d) vy e

(e) Genital stage (e) A HaHi =W
Code : %< :

(A) (a), (b), (c), (d), (e) (A)  (a), (b), (c). (d), (e)
(B)  (B). (a), (¢), (d), (¢) (B) (b), (@), (c), (d), (e)
(©) (). (d). (©), (). (a) (© (@), (@) (c), () (a)
(D) (c), (d), (), (a), (b) . (D) (©), (d), (e), (a), (b)

6.  Which out of these thinking is involved 6. 7= ® & goawasa § w1 fa< af=fea

in creativity ? €7

(A) Divergent Thinking (A) eraE feaq
(B) Convergent Thinking (B) &Rl foas
(C) Realistic Thinking (C) AMeERT foa
(D) Associative Thinking (D) S foaa

SPACE FOR ROUGH WORK / 7% & & fead sig
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P'ei*é‘oﬁaiity is not assessed through :

(A) Projective test

(B) Self-Report inventories
(C) Situational tests

(D) Differential Aptitude Test

Cephalocaudal sequence of development
proceeds from :

(A) Central part to peripheral part of
the body

(B) Head to feet
(C) Feet to head

(D) Peripheral part of central part of the
body

Match List - I with List - I choosing the

>

®?

(A) wardt when

SAferea F1 goaisa fead @ frar s

(B) wH-Rr gt
(C) feufasria adren
(D) fafta draan qien

8. fomm & Rrigssia sy v da &

(A) ¥R F 9e7 I § Suidrar wm a9

(B) fmaARw*
(€ WIfmas
(D) YRR % IMAT 971 § 767 97

9. WE %2 H T HW g G - 1 7

correct code, eIt - 11 9 e |

List - I List - I et - 1 gt - 11
(a) Asch, S. (i) Cognitive (a) Tw, Ty, () FaHEE fagnfy

dissonance

(b) Festinger, L. (ii) Balance theory (b) WER W (i) Hged fog
(c) Heider, F.  (iii) Conformity (c) ®EST, WF. (i) HFET@
(d) Berm, D. (iv) Self perception (d) =, €. (iv) T-geaafiem
Code : He :

@ () (© (@ @ B (© (d
(A) @) 6 () G (A) @) @ () ()
B) @) () (@) () B) @) () (@) (v)
© @ @ @ @) © @) @ @O @)
(D) @) () @) @v) (D) ) () (@) Gv)

SPACE FOR ROUGH WORK / 7% &1 % fordr s
Set - A 9210/TFU-PSY/ELG-II



10.

11.

12,

13.

Regarding Structural violence which of
the following statement is incorrect ?

(A) Some social structure or institution
is involved in it.

(B) It is direct in nature.

(C) It harms or kills people slowly by
depriving them of the satisfaction
of their basic needs.

(D) It is indirect in nature.

Which research approach does not require
manipulation of the independent
variable ?

(A) Cross-cultural study
(B) Action-research
(C) Natural observation

(D) Experimental research

Randomized Block Design is useful
because it :

(A) Uses less number of subjects
(B) Uses blocks to reduce error
(C) Randomizes the groups

(D) Manipulates independent variables

Steps in Psychological test development
involves :

(A) Comparison with other tests
(B) Using different languages
(C) Item analysis

(D) Using many different groups

10.

1.

12,

13.

s o F o g = g g wm

T W T 87

(A) 39 FE WIS TTEAT 9T g
wnfHet gt & |

(B) IE FUY WY FI Bl B

(C) <Nl =1 37! YoAYd SavasHarsl 4
e e I8 I 4 oY 2 Igam
HYaT AR ST ¢ |

(D) I% AV &Y i Bt |

A § UM gfeshion W = # 2w
YT & Ll ?

(A) YR-GiEHfas 9
(B) AT HTHH

(C) wipfass sTaeeh
(D) WA ST

Ao weifeh fewe gafert Iwntt & s
9% :

(A) W9 T Al 1 ST R §
(B) ¥ FH FA & ford swant foman e &
(C) = i agf=s® %t &

(D) %553 =X I TR HT ©

HOTTe

(A) =g wlansti % | ger

(B)  3TeM1-3T&M “TSeH 1 34

(C) =it faweram

(D) gd GR 3TeNT-3Ter WYE &1 39dn
FE

Tl TR F % ol Heveas

SPACE FOR ROUGH WORK / T% &1 & ford e
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14. Read each of the following two
statements Assertion (A) and Reason (R)
and indicate your answer using the code
given below.

Assertion (A) :

In both visual and auditory perception, a

segregated segment of the field becomes

the figure and the remainder becomes the

ground.

Reason (R) :

When the observer sees one version of the

figure it is impossible to see the other, the

unseen version becomes the ground of the

figure.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(€) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

15. Factor Analysis is used to discover :

(A) Underlying Factors

(B) Inter-correlation Matrix
(C) Eigen Values

(D) Simple Structure

16. Semantic differential test uses :
(A) Measurement of better adjectives
(B) Bi-polar adjectives
(C) Adjective check-list
(D) Items to test personality

14.

15,

16.

AIHLT (A) T FAOT (R) SR FoH H
fed aon i faw e Fe & s @ e
I I TR

TR (A)
e Ta oo Sl gemafiento & &5 i geme
YT ST S ST & R 9 fty 59 S ¥

HIUT (R) :

ST STETIHh SMHTA 1 TH GLHT0 Sga &
Al G T ST ST B SR | TR STy
GERT STHTa T Y 5 St &

Qg‘d’:

(A) (A) @ (R) SH | & 991 (R), (A) F1
e A B |

(B) (A) 71 (R) i ¥F §, W (R), (A)
i HE A T 2|

(C) (A) ¥ & T (R) 319 ¥

(D) (A) 379 8, T (R) §cF &1

FNE favedwor 1 3w =0 @l | e
e & ?

(A) idHfea FRF

(B) it wewsy Afzaw

(C) ST |

(D) & HL=Al

19 S Then ST e
(A) &R oo %1 9

(B) Teysit fagram

(C) fommm wiraror gt

(D) =Afsde wdien i

SPACE FOR ROUGH WORK / T% &4 % ford wiig
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17.

Read each of the following two
statements Assertion (A) and Reason (R)
and indicate your answer using the code
given below.

Assertion (A) :

Depressed person manifested a strong
tendency to attribute Internal, Stable
cause for bad outcome and external,
unstable situational cause for good
outcome.

Reason (R) :

In expectency theory of depression
characteristic pattern of expectations
determine an attitude of helplessness that
motivates depressive response.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

17

APIHAT (A) TLT H/IOT (R) I FLA I
afed 91 2 & ITER § AT W i TR

fysme (A) :

guE =fed ®it ¥ga ot ® % a9 e
gftomy % ferg siafter feer SO W o
FTA & AR A AR afitfEufd (situational)
! 3= qitomy & foqu |

T (R)

9Y1E % 79ar fagra ® arien & fasramsif
=Afe & faaea sifvgfa =1 fifa s 2
AT FFEEATET Wiafshar s Yia e g1

(A) (A) 9= (R) SF T & 7 (R), (A)
I Hel A B

(B) (A) 1 (R) i ¥ €, W (R), (A)
&I T A T8 £

Q) (A) 9 &, 9 (R) dTA €1

(D) (A) 379 8, 7] (R) T &1

SPACE FOR ROUGH WORK / 7% &1 & @& g
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18. In the context of HIV infection window 18, TR . HHau ¥ gy o =g dEt %
period for the fourth generation antigen/ o/ ddaiet whem & faw faver smefy
antibody test is : Bt B :

(A) Two Weeks (A) TR

(B) Three Weeks (B) o Hware
(C) Four Weeks (C) =R HwE
(D) Five Weeks (D) g gwE

19.  Match List - I (Personality) and List - II 19, gt - 1 (=ufeaea) g &t - 11
(Characteristic) and indicate your (ﬁﬁﬂmﬂ)ﬁﬁamwﬁmw%w
response by choosing the code given ¥ wE I g
below :

List - I List - IT et - 1 Tt - 11
(Personality) (Characteristic) (=afeme ) ( TagromTai )
(a) A Type (i) Outgoing  and (a) 3 UHK () Tt oo feramfrer
energetic :
(b) B Type (ii) Well organized (b) ¥ UFHR (i) HoFartem ud guefs
and supportive
(c) C Type (iii) Goal oriented (c) 4 UHR (iii) TT&T ST
(d) D Type (iv) Controlling and (d) TR (iv) ¥99 ug wHqfeq
stable behaviour SRR
Code : %e
@ (b) () (d) @ (b) () (d
(A) () @) @ () (A) Gv) () @ (i)
B) @) @ (@Gv) () (B) (i) @) () (i)
© O G6v) @ @) © O Gv) @) (i)
(D) (@) Gv) @ (i) (D) @) @v) () (i)
SPACE FOR ROUGH WORK / T% &Td & fad wme
Set - A 9210/TFU-PSY/ELG-11



20.

21;

Which test is not used in a clinical
setting ?

(A) MMPI
(B) Myers-Briggs Type Indicator
(C) Ink-Blot Test

(D) TAT

Which are the emotional focused coping
strategies to reduce stress ?

(a) Drug therapy

(b) Social support

() Meditation

(d) Cognitive Restructuring
Choose the correct code :

(A) Only (a)

(B) (b). (0). (d)

(C) (b), (a), (d)

(D) (a), (9), (d)

20.

21.

it Afen § fog wliem =1 3w &
frm ST 82

(A) THTHGLARE.
(B) HIH-fom Ty YR F Hehde
(C) F=h-cAte e

(D) @il

TE F FH F &G BA ° GAN-Hiwa
TS 39 # ?

(a) ¥ fafemca

(b) EEITSR T

(€ =M

(d) HIARES GAEEA
WE F2 T T R :
(A) FI (a)

(B) (), (o) (d)

©) (b)), (d)

(D) (@) () (d)

SPACE FOR ROUGH WORK / 7% &1d & ford smrg
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22.  Match List - I with List - IT and indicate ~ 22. el - 1% gl - 10 % e gafe st
your answer with the help of codes given o 52 1 %z § wdt s v
below :
List - I List - I e - 1 HEr - 11
(Types of (Description) (8fg *1 9) (FuiT)
Intelligence)
(@) Fluid (i) Broad (a) W gfg (G fa=ga
intelligence cognitive BEIEIED
ability &\l
(b) Crystallized (i) Reasoning (b) =G (ii) @
intelligence
(c) g-factor (i) Previously (c) g-FH (i) T A
learned BERIC G|
information wftafeas &
(d) S-factor (iv) Specific (d) S-=R=® (iv) fafire e
ability
Code : %<
@ () () (d) @ (b) () (d)
(A) (v) () @ (i) (A) (v) @) @) @)
(B) (i) () (@) (iv) (B) @) @) () (iv)
© Gv) () Gy (i) © v @ @) ()
(D) @) @) @ (i) (D) (@) (i) @ (iv)
23. Social Loafing is : 23.  HHISE foggTeE
(A) Group phenomenon (A) wHfEF T
(B) Individual phenomenon (B) Fafs® wer
(C) Group and Individual both the (C) uMfew wd Safaws SHf weand
phenomenon
(D) None of the above (D) S9ed ¥ ¥ FE T8
SPACE FOR ROUGH WORK / T% &Td & ford s
Set - A 9210/TFU-PSY/ELG-II



24. The Subjective Well Being (SWB) means  24.

experiencing a :
(a) High level of positive affect.
(b) Low level of negative affect.

(c) High level of satisfaction with one’s
life.

(d) High level of religiosity.
Select the correct option :
(A) (a), (b) and (c) only
(B) (@) (c) and (d) only
(©) (b, (¢) and (d) only
(D) (), (b) and (d) only

25. Arrange the sequence of observational 25.

Learning. Choose the correct code.
(a) Memory

(b) Motivation

(c) Attention

(d) Initiation

Code :

(A) (o) (a), (), (b)

(B) (b), (©, (d). (@)

(©) (d), @), (b), ()

(D) (@) (©) (d), (b)

s Ty (Fsifed 9a #5T) 3
At frefetaa 1 sTgwa w0 ¢

(a) T T H YAHS 91E
(b) T4 W & FBOMHE qE
(c) 9 Siae o wia s 7 § Hqfte

(d) e enfeferar
W fased 9 :

(A) Fa (), (b) T (o)
(B) %9 (a), (c) TH (d)
(C) 5 (b), () T (d)
(D) e (a), (b) W (d)

HIWHHS AT F WG SFIHH h Fe
1 g |

(a) ¥
(b) ST

(c) a8

(A) (), (a), (@), (b)
(B) (®), (¢) (d), (@)
© (). (@), ®) (€
(D) (@), (9), (d), (b)

SPACE FOR ROUGH WORK / T& &4 % ford e
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26. A famous study in the area of helping 26, Wera =R & &7 # fpu M TF yiag
behaviour is known as Bystander HOTAT $ TWF TR AT F W @
Intervention. It was conducted by : ST ST B 1 ¥ et of
(A) Clark and Clark (A) =T TS Tk
(B) Petty and Cacioppo (B) 9 ud Higsiry
(€) Hall and Lindzey (C) =™ ud feres
(D) Darley and Latané (D) STeft vg dem

27. Given below are two statements, one 27, AfRYT (A) T ROT (R) § F9ifepa 1
labelled as Assertion (A) and the other A FHY feum &1 frafatag HS T I9GIT
labelled as Reason (R). Indicate your FH ST S R
answer using the codes given below :

Assertion (A) : AHST (A)

One function of personality theory is to ™ ¥ R ¥ Wi | b Lk L AR i

predict future behaviour. Al fagia =1 6t =0 2

Reason (R) : T (R) :

Selection is a part of the person =, Ao wFfa & sia.fwal w0 TF 4T § |

environment interaction,

Code : % :

(A)  Both (A) and (R) are true and (R) is (A) " (A) 791 (R) S &1 # 3R (R), (A) it
the correct explanation of (A). et =

(B)  Both (A) and (R) are true, but (R) is (B)  (A) @ (R) 5i 51 &, fabg (R), (A)
not the correct explanation of (A). H1 W& e TE g1

(C) (A) is true, (R) is false, (€) (A) 89 %, (R) 31897 )

(D) (A) is false, but (R) is true. (D) (A) 315 B, frg (R) ¥4 &1

SPACE FOR ROUGH WORK / T% &rd % forar g
Set - A 9210/TFU-PSY/ELG-II



28.

29,

30.
(a)

- (b)

(d)

ANCOVA uses :
(A)
(B)

Taking out pre-existing differences
Analysis of covariances among
variables

(©)
(D)

Finding out correlation

Less number of subjects than
ANOVA

The effect of selected independent
variables is taken out from other
independent variables through :

(A) Product-moment correlation

(B) Rank-order correlation

(C) Semi- partial correlation

(D) Partial correlation

List - I List - II
Mental Filtering (i)  Thought disortion
others are

thinking critically

Mental status Summation of
examination

Meta-Analysis

(i)
findings
Quick assessment

(iii)

of clients
functioning

Mind reading (iv) Ignoring positive
events

Code :

(@ (b) () (d

(a) @ @) @ @)

(B) @) @) @ @)

© @v) @) @ O

(D) @) @ G@v) @

28.

29.

30.
(2)

(b)

(©

(d)

ANCOVA 374 Tl ¢ :
(A) TE & o TaE e & R
(B) = H wE-FHH I fawer

Tegay & @ A
ANOVA & &4 fauz

©)
(D)

wafa ey = A 3 Wad 9 H
FY Frepren ST & 7

(A) G-I HEHEY
(B) Y&-&vil HeHaY
(C) e - i HeHsH
(D) ifres HeHsY

et -1 =il - 1

qefas B () e e, gEl
HEATACHE |

et frafa (@)  FreRd = d@Ee

e

21 fawew (ii) S FHTE A
iieful

HEE el (iv) TERHER FAIS
i IUA

e

(@ @®) (o (@

(A) @ @) @) ()

(B) (@) (@) @) (@)

© (v) @) @ @0

(D) () @ (v) (@)

SPACE FOR ROUGH WORK / T& &4 & ford 97
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31. Ethics in research involves - 31. STIHYN ¥ Afawar 4 v £2
(A) Using proper statistical tools (A) 39 wifersr sgs 5 ERein
(B)  Using proper psychological tools (B) Sfea wdwf 390 1 3qam
(C) Confidentiality of the data (C) =& & Tiraar
(D) Asking good questions (D) o= HaTel Yo
32. The name given to the cone pigment is : 32, VIF = B g ¥ .
(A) Idopsin (A) ITEEifET
(B) Bipolar cells (B) wEYER Fifvrnd
(C) Ganglian cells (C) it ifdrend
(D) Rhodopsin (D) Teifey
33. Which of the following is not an 33, =1 3 4 27 31 7R sriaftteor 51 v
internalizing form of Psychopathology ? & &2
(A) Anxiety (A) fa=m
(B) Depression (B) AT9ER
(C) Autism (C) siifesy
(D) Frequent unexplained Stomach- (D) oT9% 92 38 IR-aR 2
aches
SPACE FOR ROUGH WORK / T% &t % ferdt iz
Set- A 9210/TFU-PSY/ELG-II



34.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Indicate your
answer using the codes given below :

Assertion (A) :

In Freudian theory unpleasant feelings of
tension or worry experienced by
individuals in relation to unacceptable

wishes are impulses,

Reason (R) :

Techniques used by the Ego to keep
thinking and unacceptable materials out
of consciousness and so to reduce anxiety.

Code :

(A) (A)is true, (R) is false.

(B) (A) and (R) are correct, but (R) is
not the correct explanation of (A).

©)

(R) is true, (A) is false.

(D) Both (A) and (R) are false.

34.

mﬁmuﬂwwwmﬁmﬂiﬁmé’r
Fo A Fu T | FrafafaEa g2 H ST
ﬁ%ﬁﬁﬁa:

AfR e (A) :

ﬁmﬂﬁ@iﬁ%w,m@ﬂﬂaﬁmﬁ
& ity = gra Sa faRd T e S
fota 3 STEq ST ] S FEd €

&ROT (R) :

e feiae 2l srefar vl # v o
ﬂgr@aﬂgﬁﬂmﬁmaﬂﬁ%maﬁ
maﬂmmmmm%

e

(A) (A) T ¥, (R) 378 T

(B)  (A) 3R (R) T TA E, TG (R), (A)
¥t T = T e

(€) (R) T T, (A) 75 2l

(D) (A) 3T (R) S A S|
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35. Match List - I with List - II. 35. qa?-lésmqiﬁ-umﬁmaﬁml
List - I List - II T - 1 = - 11
(Brain Areas) (Functions) (wfes &7) (=rd)

() Hypothalamus (i) Language (@) TEUEeHY (i) v T
development
(b) Wernik's Area (i) Maintain posture (b) =fem ufen (i) ferfa ek
and balance Hqer &1 fraes
(€) Occipital Lobe (i) Regulation of (c) Sffee die (i) ¥@ i @m w®
hunger and thirst EREL
(d) Cerebellum (iv) Interprets vision (d) wHiESR (iv) e %1 =rem
Code : C
@ () (0 (d @ ® (o) (
(A) (@) () (@) (v) A) @ @ @) @)
B O Gv) @ i) B 0 v @) )
© @) @ @ @) © @) @ @ @)
@) ) () @) @) D) @) () @(v) @@

36. Moving object shows a systematic  36. Tifeitel o Tyl i safierd &9 e
covering and uncovering of the Td ISR Y 3 & afe =YY =afie
background. If the background is & 9 9 T SR R B & A e whE
systematically covered on the left then 1 T HE TR 7
what is this process called ?

(A) Tlusion (A) 99

(B) Occlusion (B)  31EdaH
(C) Dillusion (C) faywm
(D) Disocculusion (D) IEIH

37. The desire to experience success and to 37, %o % SATYS I T a1 ot farai o
participate in activities in which success 9T o1 s, =fgaa HITITS S eqoem =7
depends on personal effort and abilities ST 2, I Fed & -
is known as :

(A) Primary Motivation (A) T=7 Yoy
(B) Achievement Motivation (B) S9wifey Swom
(C) Stimulus Generalization (C) ZEvw M=
(D) Extrinsic Motivation (D) =l v
SPACE FOR ROUGH WORK / 1% % & forg s
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38.

39.

A signal moving from one neuron to
another, travels through the cells, parts

in specific order. Find the correct

sequence.
(A) Dendrite, axon, synapse, cell body

(B)
(C) Dendrite, cell body, synapse, axon

Cell body, axon, synapse, dendrite

(D) Synapse, axon, dendrite, cell body

Read each of the following two
statements, Assertion (A) and Reason (R)
and indicate your answer using the code
given below :

Assertion (A) :

It is important to create a class room
climate that is accepting.

Reason (R) :

Teachers can apply strategies to reduce
the negative impact of anxiety on learning
and performance. '

Code :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).
(©)
(D)

(A) is true, but (R) is false.

(A) is false, but (R) is true.

38.

39.

T fare S U 0 | g A H AR
TWE FT §, @ 9¢ Th favw w6 4
HITHI @ EHT T 81 WE ATHA
AT |

(A) gfeeh, T, WIETH, I WK
(B) I YN, WA, W, it
(C) fesht, i1 IR, T, THH
(D) WSS, T, Jfehl, F TR

fre @ wual, sfusmaT (A) T
THROT (R) %1 afed o f e % S99
& W gAY

AR (A) :

U] FTEEd & FrarETo &1 E wE
amevas & = faenfeiai = =R #1)

0T (R) :

e U I B SI9AT S S
wd faenfidl 3 YeEH W ARRICHE T
HH H TF |

F‘:

(A) (A)TT(R) S 93 € 91 (R), (A) FT

aEenEn |

(A) 7= (R) 3 ¥ €, T (R), (A)
T T AT T 2

(A) 9 %, T (R) 319 21

(B)

©

(D) (A) ¥&@ B, T (R) T4 ¥
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40. Match List - I and List - IT and indicate 40, et - 1 99 et - 101 1 gafem wifve qon
your response by choosing the codes given = fau M@ FHE H ITEN FF HT TN
below : T
List - I List - II et - 1 - 11

(a) Attitudes (i) Specific course of action (a) B (i) fordi gfafsan = fafore

qrf

(b) Ergs (ii) Innate drives or motives (b) F (3vf|) (i) sPafifed Soom steer ELLp)

(©) Sems (i) Learned or acquired () ¥mq (iti) wfofara sreran aifsfa afea

dynamic traits CI&TOT
Code : Fe
@ () (o @ () (o
(A) @) @ () (A) @) @) @
B i) () () B) @) () ()
© @ @) () © @) @@ @
D) () () G D) () ) i)

41.  While interacting with others each person 41, %3 =afim fcht T e ¥ st we
compares his own cost to reward ratio HEA T Hed-JTEHR S FH TE =far
with other’s cost to reward ratio. We * TI-JUR 39T 9 o F@ R TqE®
prefer that our cost to reward ratio be R 5= Fa & s AT9-JG=R
equal to other person’s ratio. UG ] =faa & 39 3T9E % §UE 3|
This theory is called as : 39 fagia #i Fea & -

(A) Balance theory (A) Wded faga

(B) Gain and Loss theory (B) wittd ud wif fagia
(C) Equity theory (C) a1 (faeet) fagia
(D) All of the above (D) S9U= Tt

42. The developmentof positive life skillsand 42, YIS ST HIvel 1 e TH S
the development of a realistic and healthy 3TN T AT G F FHEAT & :
self esteem is called as :

(A) Self efficacy (A) SATH FYTEhIfEr
(B) Resilience (B) wr=ftemas
(C) Psychological capital (©) n‘—hﬂmﬁmisﬁ
(D) Self growth (D) = fasm
SPACE FOR ROUGH WORK / T% &1 % fordt g
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43.

44.

Arrange the four stages of Bandura’s
observational learning.

(a)
(b)
(©)
(d)
Code :

(A) (@), (), () and (d)
®) (. (@), (d) and (b)
(©) (b), (d), (c) and (a)
(D) (@), (), (b) and (a)

Attention process
Motor reproduction process
Motivational process

Retention process

Match List - I (Author) with List - II
(Explanation) and indicate your response
by choosing the code given below :
List - I List - IT
(Author) (Explanation)
(a) GeorgeKelly (i) Person Perception

(b) Roger (ii)y Social relation and

development

(c) Gestalt (iii) Personal construct

(d) Horney (iv) Individual unique
qualities

Code :

@@ (b) (o (d

(A) @) @@ @) @

(B) () (@) @@ @)

© (@) (v) (D) (@)

(D) @) (v) @ @

43,

44.

e ¥ ST e % A St
i FHHIEHA L |

(a) TSI HoHA

(b) e eI UfshaT

(c) U skl

(d) wfeemer wfsha

C TN
(A) (), (), () 3 (d)
®) () (@) () )
©  (b), (@) () 3 (a)
(D) (d), (©), (b) M (a)

el - 1 (T ) F g - 11 (S )

¥F wry faary 9o fr= §2 % 39 4 W@
I ﬁﬁ'ﬂ{ .
el - 1 et - 10
(W& ) (=T )
(a) Wt HE () S e
(b) IR (i) FTITSE HeE YW TS
fa=rmg
() T=re (iii) =AfaRTT i
(d) = (iv) =afea & fafirse
ferramy
'@7.‘ s
(@ () (o (4
(A) (i) @) @) @
(B) () (@) G) (@)
© (@ (@v) () ()
(D) (i) (v) @) (i)
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45, According to Jean Piaget which one of 45. 1 foas % HFIER 9 § 9 35 wafe

the following is the correct sequence of form w1 o@t wm &2

cognitive development ?

(A) Preoperational — Sensory motor — (A) Y4 HfiFramms - ot Ueftg Td
Concrete operational — Formal forarers - sivafs e
operational

(B)  Preoperational — Sensory motor — (B) Wd Wiwarms - w3et dvfig
Formal operational — Concrete ATk Wi Td i
operational

(C)  Sensory motor — Preoperational — (C) wHast iy - 7d wfEares o
Formal operational — Concrete mﬁmeqﬁ farens
operational

(D)  Sensory motor — Preoperational —s (D) wat ¥vfta — g whwarems d
Concrete operational — Formal HisFATH® - sioafis whFaars
operational

46.  What is not a psychological test 7 46. T, AT Than E 22

(A) Sanity Test (A) ~HHSIERI 1 udien

(B) Vocational Test (B) =ATS=Ige it

(€)  Achievement Test (C) 3uafsy wdiey

(D) Aptitude Test (D)  @ran wian

SPACE FOR ROUGH WORK / 7% & % ford e
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47. Match List - I with List - II by choosing

47. W& Fe 1 WA F g R - 1R G - 11

correct code : Y faeney :
List - I List - II g - 11

(a) Impairment Any impairment (a) g Sferen =i AR,
that may be TorehTaTeHeh, YaITH,
cognitive, T, IRifE da9dE
developmental, YT TAHT HIE GASH &
intellectual, gkt B
mental, physical
Sensory Or some
combination of
these.

(b) Handicap Difficulty in (b) ot v sremn foran 1
executing a task F H B9 Tl Hies |
or action.

(c) Disability Any loss or (c) AT, AR 372
abnormality of YRR TE H T arel
psychological, HEHATTE 31Ul HATHS
physiologic or effa a1 SAFHE |
anatomic
structure or
function.

(d) Activity A physical, (d) FIE W, Al 1o

Limitation mental or wiafies frafa it =af %
emotional QIAT=T HTE W ST STerdl
condition that 7
interferes with a
person’s normal
functioning.

Code : He:

@ ® © (@ @ ® © @

A) G(v) G @ @ A) (v) @) 6 )

B @) Gv O @ B @@ @ O @

© @) @ @ @ © @) @ @ @

D) (v @ @ () D) Gv) () @) (i)
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48.  Yerkes-Dodson law states that greater the 48, T -SrewT fam gviar ¥ fir et arfues
task difficulty : Eﬁﬂﬁ%ﬁ@‘ﬁﬂﬁ:
(A) Higher the optimal level of arousal (A) sl 3T &R T=Tan g
(B) Lower the optimal level of arousal (B)  3T=¥ WS W FT B
(C) Diagonally processed arousal level (C) Sue w1 faaot gy
(D) Greater the Psychological and (D) TAESTFF T e =9 § e
Physiological arousal state T sy gFm
49. According to Erikson which of the 49 R F SR fervirmaeer @5 q&q HFe
following is the main crisis of adolescent FE?
stage ?
(A) Identity versus Mistrust (A) YE9H 99M Afgvamy
(B) Identity versus Inferiority (B) WEET M Ean
(C) Intimacy versus Isolation (C) T s9m T
(D) Identity versus Confusion (D) v&EH aIm fayrfe
50.  Match List - I and List - IT and indicate 50, W—Iﬁqﬁ-llﬂﬁwmﬁn@%
your response by choosing the code given ST § WE I g
below :
List - I List - 11 eI - 1 it - 11
(a) Creative Self (i) George (a) TEAHE @; (i) S et
Kelly
(b) Personal (i) Alfred (b) =fFT™IEE (i) ek
Construct Adler fasia TSR
theory
(c) Systematic (i) John (c) HFF o~ (i) i fes
desensitization Bowlby yirerar
(d) Attachment  (iv) Joseph (d) wma fagr (iv) <% ey
Theory Wolpe
Code : %
@ (b) () (d) @ () (o (g
(A) @) @) @) @) (A) @) () @v) @)
B @ @ @) (i B @ @ @) (i
© O G (@) Gv) © 6 @) @ @)
@) () @) @ (i) D) () @ @) (i)
SPACE FOR ROUGH WORK / T% & % fory e
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51.

52,

The characteristic to maintain balance in 51.

our lives during difficult or stressful period
of time and which protect us from mental
health problems is called as :

(A) Resilience
(B) Resistance
(C) Equanimity

(D) Regression

Bruner experiment elicited different  52.

strategies for the selection of hypothesis.
Choose the correct strategies :

(a) Simultaneous scanning
(b) Stimulus selection

(c) Focus gambling

(d) Successive scanning
Code :

(A) (@), (b), (0

(B) (b), (a), (d)

(© (@), (), (o)

(D) (@) (¢) (d)

=7 favar f & 29 3799 SfeA & hisd
e SIEYY THE H ST Hger S W
# i S 2 oo @ g g
@H,Tﬁﬂﬁ'!'@?ﬁ%,?lﬁﬂa%:

(A) THETETH

(B) Wy

(C) wAvE

(D) Wi

R 3 g H uftsheg =9 2q fafvm e
v e 71

& dresl # = e

(a) THFITH A

(b) T =

(c) Hf=a a7

(d) fEF T

(A) (@), (b), (9)
(B) (b). (@), (d)
(©) (d), (b), (9)

(D) (@) (). (d)
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ﬁ%@aﬁi}ﬂ?mwa—-{n%wﬁm

53.  Which of the following group denotes  53.
correctly the four mediational processes ST Fgia % IR Heaeerar #33 ar) wHe
of Bandura’s Social Learning theory ? =1 | T Y yehfa w2
(A) (a) Attention  (b) Perception (A) (a) 3FHH (b) T
(c) Reproduction (d) Motivation (c) gecqre (d) ST
(B) (a) Attention  (b) Perception (B) (a) 3@y (OERGIET
(c) Retention  (d) Reproduction (c) & (d) gTecareT
(C) (a) Attention  (b) Retention (C) (a) ATu°™ (b) &mXor
(¢) Reproduction (d) Motivation (c) gTecareq (d) Som
(D) (a) Attention  (b) Retention (D) (a) S9YH (b) &9
(c) Extension  (d) Motivation (GREL (d) 3Tom
54. Match List - I with List - II : 54. Heft - 1% Gelt - 11 9 firefeu
List - I List - II et -1 eI - 11
(a) Life space (i) Bandura (a) SitaT TIH (i) ==gu
(b) Soft Behaviourism (i) Kurt Lewin (b) 9 =FEER (i) e AfFA
() Cognitive map (iii) Tolman (c) HIHTHF aen (iii) 2ferd=
(d) Analytical Psychology (iv) Carl Jung (d) foveraomes sHifame  (v) i gm
Code : Fe:
@@ () (9 (@@ @ () (g (€
(A) () (@) (v) (i) (A) () @) (Gv) ()
(B) @) @ () (v) B) @ @ @) (v)
©) (@) (v) @) () © @) Gv) @ @
(D) @) @) (v) (i) (D) (@) @) (v) (i)
SPACE FOR ROUGH WORK / T% &4 % fad W
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55

56.

Who established
Psychology ?

structuralism in

(A) Wundt
(B) Titchner
(C) Watson

(D) William James

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Indicate your
answer using the codes given below :

Assertion (A) :

Attending to overcome feelings of
inferiority is the primary motive of human
behaviour.

Reason (R) :

A feeling of inferiority leads to anxiety.
(A) Both (A) and (R) are false.

(B) (A) is true, (R) is false.

(C) (A) is false, (R) is true.

(D) (A) and (R) are true, but (R) is not
the correct explanation of (A).

55.

56.

THIfaEE T GEAERE ® T fee &5 2

(A) 2

STHET (A) T HIOT (R) F THIHd A
ey A few 3 € | Feafafed 552 %1 3w
HTh ST S i

AU (A) :

Frar &% wEel 9 gaa 21 & fan it
FAT HFAE SHEER T NAHE 359 B |
ST (R) :

a1 1 9T Y=l i 3 ST FHA 2|
(A) (A) 3R (R) Sl o8A B

(B) (A) ¥ ¥, (R) 316 &1

(C) (A) 39 ¥, (R) 9 21

(D) (A) 3R (R) 3F ¥4 ¥, T (R), (A)
&1 Tl =T e 2
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57.  There are pair of statements labelled as ~ 57. 3t (A) 91 SHIUT (R) & Tifera <
Assertion (A) and Reason (R). Read the FUA feU T €| 5 ufeu aun %52 & swgm
pair of statements and answer the 'HE'YST'R‘ Tg’F-IQ 3
questions using the following codes :
Assertion (A) : e (A)
The ways of language acquisition varies fafvm sepfot & i =t st ori & ade
among people of different Cultures. o fofimrmm 2t 2 |
Reason (R) : T (R) :
According to Chomsky deep structure of SR % STTER T T TR EREIG
language is innate. BT
Code : Fe :
(A) Both (A) and (R) are true and (R) is (A) (A) 791 (R) SHl ¥ § 3R (R), (A)
the correct explanation of (A). 1 HEl ST ¥ |
(B) Both (A) and (R) are true, but (R) is (B) (A) 7o (R) S & ¥, W (R), (A)
not the correct explanation of (A). 1 HE = T
(C) (A) is true, but (R) is false, (©) (A) ¥ B, T (R) & &
(D) (A) is false, but (R) is true. (D) (A) 19 2, T (R) 57 &1
58. In Piaget's sensory motor stage of 58, TS % Wi MHE frem T § g
development, the child — |
(A) Thinks about the world through (A) HOR F 9t § oot fFmsi ¥ anur
their action on it T H=d1 &
(B) Develops motor skills using their (B) HE F wrvrEl w1 fawmm wEe ¥
senses SR |
(C) Egocentric about his/her world (C) @-Hfzadas
(D) Thinks using symbols (D) Hi= ¥ TFaT 1 S9gn
SPACE FOR ROUGH WORK / 7% %14 % ford e
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59. Where are oxytocin and vasopressin
harmones synthesized ?

(A) Posterior Pituitary
(B) Anterior Pituitary
(C) Gonads

(D) Hypothalamus

60. Match List - I with List - II by choosing
correct code :

List - I List - 11
(Psychotherapy) (Important
Names)

(@) Rational Emotive (i) Marsha M.
Behaviour Linehan
Therapy (REBT)

(b) Cognitive (if) Zindel Segal
Behaviour

Therapy (CBT)

(¢) Mindfulness (iii) Albert Ellis
Based Cognitive
Therapy (MBCT)

(d) Dialectic (iv) Aaron T.
Behaviour Beck
Therapy (DBT)

Code :

@ () (9 (d)
(A) @) (@v) @@ (@)
(B) () (D) (i) ()
(©) @) (v) (@) @
(D) (v) (i) () ()

59.

60.

SfRfETET qon aEfee eEi FE W
Hyeifaa 2 € 2

(A) v fagfve

(B) s frgfem

(C) =+ Uil TFSH

(D)  STHTHaH/EFA LT

WE HZ w1 AT FIG gL HHA - I H
gt - 11§ e wife

gt - 1 =t - 11

( wefafEmT ) (Frgeagut e )

(a) YW@ gEfem () T
forefemm ot wfTEA
(3 EEA)

(b) wimtafes forferm (i) fosw dime
Fodt (e

e

@@ (b) (9 (d)
(A) (@) Gv) (O @)
B @v) @) @@ @
(©) () @v) @) @
(D) (v) (i) (@) (@)
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61. Which of the dimension is not found in ~ 61. &=l % farg fagr § Frw smEm &
Sternberg triarchic theory ? EIRIRIC I
(A) Contextual Intelligence (A) He¥ma gfE
(B) Emotional Intelligence (B) Hafir g
(C) Componential Intelligence (C) TErH® gfg
(D) Experimental Intelligence (D) oYl Ffg
62. Think about the statements related to 62, 9 U feaq % Tl W 419 ¥ T
language and thinking and select the = & 9o - F MUR T W@ I
correct answer using the code : g
(a) Language and thinking are opposite (a) W Td o T g S fordieht &
to each other.
(b) Language and thinking are (b) e Ue faw U g F e €
complement to each other.
(c) Language is a Vehicle of thinking. (c) W o= =1 T 2l
Code : EEh
(A) Only (a) is correct. (A) T (a) T& )
(B) (b) and (c) are correct. (B) (b) 3R (c) W&
(C) Only (c) is correct. (C) & (c) Tl &1
(D) Only (b) is correct. (D) 9 (b) e &1
SPACE FOR ROUGH WORK / 1% &4 & f&d wme
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~ 63. Amblyoscopic is an equipment  63.

(A) Designed to test the degree in which
people can fuse images presented to
the two eye

(B) In which two overlapping pictures
are printed using different colored
ink

(C) That presents two photographs of
- a scene taken from slightly different
point of view

(D) That includes all non-visual
information to interact

64. Which componentisnotincludedinsignal  64.

detection theory ?

(A) Noise

(B) Signal

(C) Cut-off decision

(D) Learning

TEEEERITR I€ T SIHUI

(A) g = a% =afF SH1 el § v
w1 1 T F HHA © S9F 1Y
e =i fewmea fean man €

B) T < sfereamdt fast fafu=r =l =1
39 A §U gfEd §

() fafu fegsii & formn mn @ Tl 1
'q‘Q'q

(D) wmaed ® % fau g4t di-gfe
Al &1 e fe T

Tpd-uga fag< F A=Td HF 9 969eE
afefed 78 & 7

(A) =@
(B) Hehd
(€) we-orw foig

(D) @
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65. Digital Learning requires combination  65. fefses sifirm & firmy & ¥ fp % darem
of : I ATETIFH Bt § 2
(@) Technology (a) ZFHATETSIt
(b) Digital content (b) fefsea fama-agg
(c) Instructions (c) arewW
(d) Lesson plan (d) 9B =
Choose the correct option : wé faswey g
(A) (a), (b) and (d) only (A) %94 (a), (b) T (d)
(B) (a), () and (d) only (B) e (a), () W (d)
(©) (a), (b) and (c) only (©) F (a), (b) W (c)
(D) (b), () and (d) only (D) % (b), (c) T (d)
66. Construct validity can be tested with : 66.  Tmior Serar =t when & o s g £
(A) Convergent and Discriminant (A) st iR fafaames Sy
validity
(B) Face validity (B) HE e
(©) Predictive validity (C) YaTTH Ser
(D) Content validity (D) HrEft Sean
SPACE FOR ROUGH WORK / 1% &1 & fod wig
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67. Match List - I with List - I by choosing ~ 67. T 2 1 A FA O G - 1 FH G- 11

correct code : ¥ faemse

List - I List - II et - 1 -1
(a) Milgram (i) Balance theory @ fewm @) Her e
() Bandura (i) Observational (b) = (i) STECTHATAR

Learning sty

(c) Heider (iii) Obedience (c) @t (iii) SRR
(d) Levin (iv) Leadership Style (@) <feA (iv) Ag= Vel
Code : Fe :

@ () () (@ @ ® (© (@
(A) @@ @@ @ (v) (A) (@) @) @ (v)
B (@) @) @ (v) (B) (i) @) @ (iv)
© @) @ G @) (© (@) @ G) ()
(D) (v) @) (@) @ (D) (v) @) (@) ()

68. In Rescorla’s ‘aversive suppression 68. fodren ‘wfoge == wam’ # e F

experiment’ conditioning effect is TS 1 Heih, a9 A7 § fear ma R
measured by suppression ratio. Below is et e ® @ Wl T F =TEA R
given the formula. Choose the correct

formula computed :

(A) B/(A+B) (A) B/(A+B)

(B) A/(A+B) (B) A/(A*B)

(€ A/(B+B) (©) A/(B+B)

(D) A/(CS+CR) (D) A/(CS+CR)

SPACE FOR ROUGH WORK / T% @14 & foidl &
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69. Doing research implies : 69.

(A) Asking questions about so-called
facts

(B) Talking to people
(C) Taking large samples

(D) Doing experiments in the
laboratory

70.  What is not a measure of dispersion ? 70.

(A) Range
(B) Quartile Deviation
(C) Median

(D) Average Deviation

71. Likert-type scales use : 7.

(A) 5 point rating scale
(B) 6 point rating scale
(C) 7 point rating scale

(D) All of the above

HTHY | 39 1 T £ 2

(A) wfdfeerd qedi Wy e

(B) N & &I T
(C) STl W F
(D) AR H W

71 thetra =1 6T e & 2
(A) Auft

(B) =geis fomem
(C) wfeaan

(D) e famem

forehe 2T wher 3vam wean &
(A) iEg Uise e whe
(B) Toaw wige en whm
(C) & uide XEm e

(D) W & ™ wg
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72,

73.

74.

Which is the correct chronological  72.

order ?

(A) W. Wundt - Titchner - William
James - John Dewey

(B) W. Wundt - William James -
John Dewey - Titchner

(C) Titchner - W. Wundt - William
James - John Dewey

(D) W.Wundt- William James - Tichner

A nerve impulse in the human body may 73.

- John Dewey

travel at anywhere from

miles per hour.

(A)
(B)
(©

(D)

Psychology emerged as a distinct 74.

1 - 100 miles

2 - 200 miles

3 - 300 miles

4 - 400 miles

scientific discipline in :

(A)
(B)
(©)

(D)

Leipzeg, 1979
United States, 1890
Germany, 1880

Vienna, 1890

Wa e wH B § 2

(A) =g, ge - feam - fafemm o9 -
i featt

(B) fafersm que - faferem =g - w7 fedit
- feam

(C) fe=u - fafaaw g - fafaaw s -
w7 feddt

(D) faferm gz - fafeem S= - feaw
- w7 featt

e IRR | ¥ w9 fadt of o @
T 9fq Her w vfa | wfme
A TFEA T

(A) 1-100 He
(B) 2-200 et
(C) 3-300 Hi=
(D) 4 - 400 Hi&

HAlfas 1 a9 fara F w9 3gue
e g ?

(A) feufsm, 1979
(B) =T TH, 1890
(C) <mfi, 1880
(D) fazm, 1890
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75. Choose the correct option. 75. W& fasen &1 g wifsu
(A) Internet Pornography addiction has (A) FeTTR veltal faawor (dHfTE) s
been included in DSM4. F1 SLUTH 4 H wite w2 fen
gl
(B) Internet Pornography addiction has (B) $eTIe 3rvelat faemwr (4 ) =
been included in DSM5. I ELETHS § wiae w1 foran
gl
(C) Internet Pornography addiction has (C) 3=Tie Avelel faaor (JHIuTH) =5
been included in ICD-11 1 1%, 1. €1.-11 H wnforer & feran
Ed
(D) ' Neither in DSM5 nor in ICD-11 (D) ¥ SL.UH.UA5 3R 7 & e E-11
Internet Pornography addiction has H gete sTveiet faawon (A )
been included. 1 it fermm &
76. Data of the same group collected more 76. THM T 9 9 ¥ ifus an usiya fHy T
than 2 times is analyzed with : 21 %7 Favermm o B B
(A) Wilcoxon Signed Rank Test (A) diersrady gEaafta & ahen
(B) Kruskal-Wallis Test (B) Fhol-aTeity wiien
(C) Mann-Whitney Test (C) w=-=r=f ghan
(D) Friedman Test (D) UEhT gl
» SPACE FOR ROUGH WORK / 7% &1 % fordt se
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77. Match List - I (Brain Structure) and ~ 77. Huit - I (WiEsh WT=AT) F1 Gt - 11

List - IT (Function) and indicate your (=T ) % Ty faemee a1 fr 52 & swim
response by choosing the correct code T W W g
given below.
List - 1 List - II gt - 1 et - 11
(Brain Structure) (Function) (s Wr=mT) (=)
(@) Primary visual (i) Semantic (a) §ﬁ€ & MIF & (i) wregref
area E
(b) Superior temporal (i) Characteristic (b) 3=3 vi@ Iifer (i) Terdrean
lobe processing eSS
(c) Brocd’s area in the  (iii) Phonological  (c) e WS Wd i@ (i) =&fmmH
frontal lobe and s G o1 FTd
medial temporal lobe &
(d) Broca’s area in the (iv) Syntactic (d) T EE F1 FH &5 (iv) SEE-T=
frontal lobe
Code : %e
(@) (b) (o) (d) (@) (b) (o) (d)
(A) () (@) (@v) (i) (A) () (i) (iv) (i)
(B) (v) () () (i) (B) (v) () () (i)
© (@) @) @) (@v) (©) @) @@ @ ()
(D) (i) (iv) (@) () (D) () @(v) @) ()

78. Which one is the smallest unit of Nervous  78. >k a5 ®t Gevayq goiE &= ot &2

system 7

(A) Neuron (A) A

(B) Neurotransmitter (B) UTFEHIR
(C) Axon (C) u=EM
(D) Cell body (D) I WK

SPACE FOR ROUGH WORK / T% &4 & ford wre
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79. What is the correct order of the origin of ~ 79. HAIaw % Teiifeha Thall F1 Seara F1 T&
schools of Psychology ? FH H-H1 8 7
(@) Structuralism (a) HEAERE
(b) Behaviourism (b) SHTRERAR
(c) Functionalism (c) WerdETg
Answer by using codes given below : A T 7Y e Hehdl & STUR W IWE
(A) (@) (), (b) (A) (@), (), (b)
(B) (), (b), (9) (B) (@), (b), (c)
(©) () (a), (b) ©) (©) (a), (b)
(D) (b), (@), (9) (D) (b), (@), ()
80. Arrange the following structures of brain ~ 80. = f&u U Afmsr =1 F=T #1 fewr
in terms of their ascendance from lower F=AH Y H gt st
to upper position.
(a) Hypothalamus (a) EEUEEHE
(b) Corpus Callosum (b) wHIYH FHerEH
(c) Pons () w=
(d) Midbrain (dy fagsm
Code : Fe
(A) (0) (@) (a), (b) (A)  (c) (d), (a), (b)
(B) (a), (b), (d), (c) (B) (a) (b), (d), (c)
©) (© (b), (d), () ©) (), (b), (d), (a)
(D) (@) (c), (d), (b) (D) (@) (), (d), (b)
SPACE FOR ROUGH WORK / 7% &4 & ford s
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81.

82.

83.

Excess of Dopamine in Limbic system is  81.

related to :

(A)
(B)
(©)

(D)

Career guidance usually does not require 82.

Learning Disability
Parkinson disease
Schizophrenia

Extreme Aggression

measurement of :

(A)
(B)
(©

(D)

Which of the following is not the holistic =~ 83.

Aptitude
Skills
Interest

Attitude

model of health ?

(A)
(B)

(©)

(D)

Religious model
Biomedical model
Humanistic model

Existential model

fafras 93 o SmEa =t sAfusmar &1 96y
q I

(A) stferm srEmef
(B) UmERI=A T
(C) femsimmifn

(D) Afa=y RH

Sifoeh HETESA ¥ THH! HIY &I FELd el
®:

(A) Frar

=1 4 9+ @ 1 99y 9faE T T8 § 2

(A) w=ifi® gfaey

(B) “afafeeda wfeey
(C) wrEamE wfawy
(D) wfcgEaR gfoey
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84, Focus Group Approach involves : 84. 9N Shigd gftemior - wfher &wa &2
(A) Opinion-makers (A) Td HHR FH AT
(B) Focusing of attention (B) =M W A
(C) Many groups (C) 3% TE
(D) Political leaders only (D) Feel eriash Sarsdi
85. According to Fritz Heider’s attribution ~ 85. e a3t & 1w fagia & @ frs
theory which of the following is not H fo8 wwifas sl § gfafea w& fean
included in dispositional causes ? A g ?
(A) Beliefs (A) favam
(B) Attitudes (B) sifugfaat
(C) Personality characteristics (C) =afwae =1 fagraand
(D) Social Norms (D) HHISF qF
86. With aging there is decline in which type ~ 86. == ¥ fFa yor =1 Wi § it 2@t
of memory ? St § 2
(A) Implicit Memory (A) 3T Hfa
(B) Explicit Memory (B) = Hfa
(C) Semantic Memory (C) orefma Wfa
(D) Verbal Memory (D) e wfa
SPACE FOR ROUGH WORK / 1% & & fog wve
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87.

88.

89.

Which meditation technique Maharishi
Mahesh Yogi made famous ?

(A) Yen
(B) Yoga
(C) Transcendental Meditation

(D) Koan

In which year Indian Psychological
Association was established in India ?

(A) 1925
(B) 1900
() 1930

(D) 1947

Peace is not merely absence of personal
violence and war but also the absence of
structural and cultural violence.

Who among the following proposed the
definition of peace ?

(A) Charles E. Osgood
(B) H.H. Blumberg
(C) Johan Galtung

(D) Bar-Tol

87. T f ugfa =1 weld wew anf 3 el

88.

89.

fwan?

(C) ST9aTE 7
(D) Iz

IR H WRA FAETS 9 TR e
% ot ?

(A) 1925
(B) 1900
(C) 1930

(D) 1947

iife = Seret safera e we g 1 Uit
&, afes g% QoI U8 Hith{qs fedn 1
safeafa of €1

o o § forge wiifa ot Soirae i wearfaa
HI7

(A) =IcH 3. AR
(B) TA.UH. sHaAT
(C) e e
(D) WR-2rd
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9210/TFU-PSY/ELG-I1

Set - A



90.  Which is the correct order of four stages ~ 90. HsHAIH® fHa7 H =R =3 &1 G& F4
of Creative thinking ? FATI €2
(A) Preparation - illumination - (A) SIS - WS - THTONH - SEHE
verification - incubation
(B) Preparation - incubation - (B)  STREISH - IEHTA — FaeH — FHTOfeHo]
illumination - verification
(C) Preparation - verification - (C) SATASH - WHTIRRTo - 3]HS | - FaEH
incubation - illumination
(D) Preparation - incubation - (D) STHESH - 9T - TV - JaiEd
verification - illumination
91. Match List - I (Author) with List - Il 91, =il - I (WEaTa@h ) 1 gt - 11 (wfemr )
(Model) and indicate your response by % 91y femsy 9o 1 $2 F svEm & wE
choosing the code given below. W 9T |
List - I List - IT et -1 et - 11
(Author) (Model) ( wEATEF ) ( wfqwm )
(a) Collins and (i) Storage model (a) Hiferg Td (i) w=aF wfeam
Quillian et
(b) Craik and (i) Encoding (b) %% Td (i) FHe HpaA
Lockhard specificity model SIETIE) Fordreen wfemme
(c) Atkinson and (i) Hierarchical (c) TefHa wd (iii) TSTERIAF HTET-F
Shiffrin Network model o= BIGEIE]
(d) Tulving (iv) Level of processing (d) gefam (iv) FEER wR gfaae
model
Code : -3
@ (b) (o) (d) @ () (@ (@
(A) (v) () (D) (i) (A) (v) (@) () (i)
(B) (i) @v) (@) (i) (B) () (v) () (i)
© (@) @) (@) (iv) (©) @) @) @) (@v)
(D) @) (v) () (i) (D) @) (v) (i) (i)
SPACE FOR ROUGH WORK / T% &1 & fod s
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92. Which of the following are process  92.

oriented theories of motivation ?
(a) Vroom's Expectancy Theory

(b) McClleland’s Achievement
Motivation Theory

(c) Skinner's Reinforcement Theory
(d) | Maslow’s Need Hierarchy Theory
(A) (b) and (c)

(B) '.(a) and (c)

(©) (a) and (d)

(D) (a) and (b)

93. According to ROC a highly sensitive 93.

subject will generate a curve that lies in
the :

(A) Upper-left hand corner and has a
large ‘d’

(B) Upper-left hand corner and has a
small ‘d’

(C) Upper-right hand corner and has a
large ‘d’

(D) Diagonally with small ‘d’

e H § F e 1 wehe S9qE T
??

(a) ®H 1 YN fHg

(b) Treraeiele 1 Iyefe Ay fagid

(c) T o qeler fasia

(d) e w1 sTEvasa YerEd s
(A) (b) W (c)

(B) (a) W ()

(©) (a) T (d)

(D) (a) W (b)

ROC % 4R i Gag=eia safed &1 =%
el T feord @ ?

(A) Sudt-and @ 1 S SR dr Em
(B)  HI-Td w1 A FR B ‘A’ B
(C) ud-Tfer &9 & Hr 3R o2 ‘d’

Ll

(D) ot v & Wy B ‘d’ B
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94. Read each of the two sentences - 94, Timfafga a7 =wgar %1 ufgy -
Assertion (A) and Reason (R) and AR (A) T WIOT (R) | 3199 I 61
indicate your answer using codes given = fe& T 2 F ITT FA BU TWiEy .
below :

Assertion (A) : TR (A) :

The more intimate the relationship, the St Wy f5a91 e B, Sfaa T

less personal space is required. (THAS TH) S S vl e |

Reason (R) : IUT (R) :

The amount of personal space required fret =afem % fom smawrs safaame e

for any person is subjective in nature. (veTel ) *1 " afeafie yFf

Bl B |

Code : &e :

(A) Both (A) and (R) are true and (R) is (A) 2Hi(A) T (R) T § wd (R) 81T (A)
correct explanation of (A). % HEt AT B W

(B) Both (A) and (R) are true and (R) is (B) @i (A) TE (R) ¥ € UH (R) &1 (A)
not correct explanation of (A). w1 TE AT el € W 2

(C) (A) is true, but (R) is false. (C) (A) 8 8, W (R) 397 ¥

(D) (A) is false, but (R) is true. (D) (A) o9 B, T (R) ¥ 71

95. What is not a test of intelligence ? 95. o, FfGHT HI TE TE & 2
(A) Alternative Uses Test (A) fras s e
(B) WAIS (B) 9H (THY.UE.TH.)

(C) WISC-R (C) <oy, 3. TH.HI.- 311
(D) Stanford-Binet (D) wARE-fae

96. Reliability of a test cannot be determined 96, U#H Wie HI fqeritaar 569 &R 99 &
by : T s asa ¥
(A) Co-efficient Alpha (A) T HITH
(B) Split-half Correlation (B) fawifsa amen wedsiy
(C) Alternative Form (C) Afeash AR
(D) Phi-Co-efficient (D) W-TUE

SPACE FOR ROUGH WORK / T% &4 & &g wg
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97.

98.

Read the following two statements -
Assertion (A) and Reason (R). Indicate
your answer using codes given below :

Assertion (A) :

Leaders exert powerful effects on
followers through the attribution
followers make about them.

Reason (R) :

Leaders have self confidence and
sensitivity.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

The term drive was first used by :

(A) Robert 5. Woodworth
(B) Clark Hull
(C) Sigmund Freud

(D) John-Watson

97

98.

freafafiaa < wuHi #1 afen - sifueme (A)
TS THIOT (R) | 3794 3T 1 = feu mu 52
%1 I9AN HI g A

iy (A) :

AT 3799 A ) A N = st
TG § 3T g A 379 STl W e
J9E Sd B |

RIT (R) :

el § arefavard ue Gaedviied e £

<

(A) < (A) T (R) 9 € 91 (R) B (A)
= TE = A R

(B) =l (A) U (R) ¥4 € 791 (R) 51T (A)
&1 UEl el el 8 @ R

(C) (A) ¥ ¥, 9% (R) 318 & |

(D) (A) 379 2, T (R) 9 21

YUiE % W S9EP 99d UEd feas fwar
g7

(A) T wH. gzad
(B) = T
(C) fomue wrre

(D) WA-geEd
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99. A person is in conflicting situation ~ 99. UF =afed g7 F feufd F ¢ ity R
because his attitudes are not Hfvgfadi wd sgorr & arede T8 2 EL
synchronized with his behaviour. This feafa =1 e ¥
situation is called :

(A) Cognitive Resistance (A) HIATHF Ffawy

(B) Cognitive non-compliance (B) HIMTHSE FR-3FIeH
(C) Cognitive dissonance (C) e fagmfa

(D) Cognitive consonance (D) HIETHF Hfa

100. Choose the correct sequence involved in  100. Teiftem faswm % @@ sigFa & 52 =1
algorithm development : i
(a) Processing Definiteness (a) FAfeaaa gEwr
(b) Possessing Effectiveness (b)  WHTESTE g
(c) Processing Operation (c) THHEETE! THEH
(d) Processing Finiteness (d) oftfoaa g
Code : %e :

(A) (©), @, (d), (b) (A) (@), @) (d), (b)
(B)  (b), (d), @), (¢) (B) (b), (d), (a), (c)
(©)  ®). © (@), @ ©  (®) (©) () (@
(D) (@), (). (), (b) (D) (@), (o) (d), (b)
-00o0- -olo-
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SET - A

TSR FA wT O : 2 T l a1féreRay i : 200
Maximum Marks : 200

Time for marking answers : 2 Hours J

ez
1. 39 Y- 8 100 TGS W9 € - TolS W9 2 3fF H ¥ ot Wee et e avfand 2

T % W, & T OMR IW-¥ite (e7ie-3ie) W 3tk Fife |

=

3. HUICHS Hedishd & feran smam )

4. Todl ot @ F FeAFere A1 @ 2o U HEEd B F 949 afdg £

5. OMR 3TR-3f2 (AH-3fiz) wmmﬁmﬁ:@aﬁémaﬁ/ﬁmﬁ%wmm
o H1g 71 faerae onfg wg W foas werasy 98 @ue & 9 |

Nate :

1. There are 100 objective type questions in this booklet. All questions are compulsory and
carry 2 marks each. :

2. Indicate your answers on the OMR Answer-Sheet provided.

ol

No negative marking will be done.

i

Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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